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Fig. 10.2: The gravitational force between two
uniform objects is directed along the line

Joining their cenires.

Let two objects A and B of masses M and
mlie at a distance d from each other as shown
in Fig. 10.2. Let the force of attraction between
lwo objects be F. According to the universal
law of gravitalion, the force belween (wo
objects is direcily proportional to the product
of their masses. Thal is,

Foe M xm (10.1)
And the force between two objects is inversely
proportional to the square of the distance
between them, that is,

1
Fmd_:’" (10.2)

Combining Eqgs. (10.1) and (10.2), we gel

Mxm
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Mxm
or, FF=G 5 (10.4)
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